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Section : English Language (Basic Knowledge)

Q.1 Select the most appropriate ANTONYM of the given word.

MALIGNANT
Ans X" 1 |ndignant

K 2. Hesitant
J 3. Benign
K 4. Fatal

Question ID : 8161612146
Status : Answered
Chosen Option : 3

Q.2 In the given sentence identify the segment which contains the grammatical error.

A Royal Bengal tigress and her three cubs was poison and their carcasses left to rot in the
Wildlife Sanctuary in Goa.

Ans 3" 1 ARoyal Bengal tigress
\f 2. and her three cubs was poison
K 3. in the Wildlife Sanctuary in Goa

75 4.and their carcasses left to rot

Question ID : 8161612134
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate word Il in the blank in the given sentence.

This winter weather conditions have led people to remain indoors.
Ans (1 averse

\_f 2. adverse
K 3. traverse

?(_ 4. inverse

Question ID : 8161612156

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.4 Select the most appropriate word to fill in the blank in the given sentence.

Some people think that the credit card culture encourages people to shop compulsively and merely
debts.

Ans
1. accumulate

2. stimulate

3. formulate

X X X &

4. simulate

Question ID : 8161612155
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

One complaint parents and teachers have about children these days is that they are simply not
interested in (1) . In his weekly column ‘Down in Jungle land’ Ranjit Lal, an (2) offers
some useful suggestions. Keeping a dog or cat as a pet (3) to be made mandatory. Regular
visits to national parks and (4) are another way to get children hooked. Treks in wilderness
areas are even (5) as children can then engage with all kinds of life-forms on their turf.

SubQuestion No : 5

Q.5
Select the most appropriate option for blank number 1.

Ans X
1. naturalist

2. nature

3. unnaturalness

XXX

4. natural

Question ID : 8161612136
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

One complaint parents and teachers have about children these days is that they are simply not
interested in (1) . In his weekly column ‘Down in Jungle land’ Ranjit Lal, an (2) offers
some useful suggestions. Keeping a dog or cat as a pet (3) to be made mandatory. Regular
visits to national parks and (4) are another way to get children hooked. Treks in wilderness
areas are even (5) as children can then engage with all kinds of life-forms on their turf.

SubQuestion No : 6

Q.6 Select the most appropriate option for blank number 2.

Ans «
1. environmentalist

x
X

; ‘ 4. environmental

2. environs

3. environment

Question ID : 8161612137
Status : Answered
Chosen Option : 1




Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

One complaint parents and teachers have about children these days is that they are simply not
interested in (1) . In his weekly column ‘Down in Jungle land’ Ranjit Lal, an (2) offers
some useful suggestions. Keeping a dog or cat as a pet (3) to be made mandatory. Regular
visits to national parks and (4) are another way to get children hooked. Treks in wilderness
areas are even (5) as children can then engage with all kinds of life-forms on their turf.

SubQuestion No : 7

Q.7 Select the most appropriate option for blank number 3.
Ans
1.can

2. must

3. needs

X XX

4. will

Question ID : 8161612138
Status : Answered
Chosen Option :3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

One complaint parents and teachers have about children these days is that they are simply not
interested in (1) . In his weekly column ‘Down in Jungle land’ Ranjit Lal, an (2) offers
some useful suggestions. Keeping a dog or cat as a pet (3) to be made mandatory. Regular
visits to national parks and (4) are another way to get children hooked. Treks in wilderness
areas are even (5) as children can then engage with all kinds of life-forms on their turf.

SubQuestion No : 8

Q.8 Select the most appropriate option for blank number 4.

Ans x 1. sanctorum
x 2. sanctity
« 3. sanctuaries
x 4. sanctuary

Question ID : 8161612139
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

One complaint parents and teachers have about children these days is that they are simply not

interested in (1) . In his weekly column ‘Down in Jungle land’ Ranjit Lal, an (2) offers

some useful suggestions. Keeping a dog or cat as a pet (3) to be made mandatory. Regular

visits to national parks and (4) are another way to get children hooked. Treks in wilderness

areas are even (5) as children can then engage with all kinds of life-forms on their turf.

SubQuestion No : 9

Q.9 Select the most appropriate option for blank number 5.

A W perer
&5 good
K3 et
x

4. worse

Question ID : 8161612140
Status : Answered
Chosen Option : 2

Q.10 Select the correct indirect form of the given sentence.

Ravi asked, “Ritu, how many sets of class 12 practice papers have you finished?”
Ans x 1. Ravi asked Ritu how many sets of class 12 practice papers had she been finishing.
2. Ravi asked Ritu how many sets of class 12 practice papers was she finishing.

3. Ravi asked Ritu how many sets of class 12 practice papers she has been finishing.

L X X

4. Ravi asked Ritu how many sets of class 12 practice papers she had finished.

Question ID : 8161612132
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate synonym of the given word.

OPULENT
Ans 1. Distant

2. Luxurious

3. Virulent

X X & X

4. Shabby

Question ID : 8161612154
Status : Answered
Chosen Option : 2




Q.12 Select the most appropriate synonym of the given word.

ENRAGE
Ans x 1. Placate
2. Moderate

3. Alleviate

L XX

4. Infuriate
Question ID : 8161612153

Status : Answered
Chosen Option : 4

Q.13 Select the word which means the same as the group of words given.

A natural skill at doing something
Ans 1. Snack

2. Knack

3. Stack

X X € X

4. Quack
Question ID : 8161612152

Not Attempted and

SEatus s Marked For Review

Chosen Option : --

Q.14 Select the most appropriate option to substitute the underlined segment in the given sentence. If
there is no need to substitute it, select ‘No improvement’.

The Arabian Sea region is very important for India as several major ports are locating there.

Ans x 1. was locating
2. are located

3. have been locating

X X <

4. No improvement
Question ID : 8161612144

Status : Answered
Chosen Option : 2

Q.15 Select the word which means the same as the group of words given.
Very careful and precise
Ans x 1. Tremulous
2. Tumultuous

3. Garrulous

L XX

4. Meticulous
Question ID : 8161612151

Status : Answered
Chosen Option : 4




Q.16 Select the most appropriate meaning of the given idiom.

Like talking to a brick wall
Ans 1. Inattentive

2. Frightened

3. Fascinated

X X X g

4. Curious

Question ID :
Status :

Chosen Option :

8161612147

Not Attempted and
Marked For Review




Q.17 Select the correct passive form of the given sentence.

Rains lashed Delhi and brought the temperature down by a few degrees.

x Ansl. Delhi is being lashed by rain and the temperature was brought down by a few

degrees.

X 2. Delhi had been lashed by rain and the temperature had been brought down by a few degrees.

J 3. Delhi was lashed by rains and the temperature was brought down by a few degrees.

X 4. Delhi was being lashed by rain and the temperature was being brought down by a few
degrees.

Question ID : 8161612131
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate option to substitute the underlined segment in the given sentence. If
there is no need to substitute it, select ‘No improvement’.

Sele, is a near extinct language, spoken for just five villages in Nepal, which lie close to Tibet.
Ans x 1. No improvement
2. spoken in

3. spoken of

X X

4. spoken out

Question ID : 8161612143
Status : Answered
Chosen Option : 2

Q.19 In the given sentence identify the segment which contains the grammatical error.

Scientist have recently announced that a more effective antidote for snakebite venom has been
made.

Ans x 1. for snakebite venom has been made
2. that a more effective antidote

3. recently announced

L XX

4. Scientist have

Question ID : 8161612133
Status : Answered
Chosen Option : 4

Q.20 Select the most appropriate meaning of the given idiom.

Bite off more than one can chew
Ans J 1. To take on more than one can deal with
2. To eat quickly and run away

3. To taste something while cooking

X X X

4. To cheat someone and get away

Question ID : 8161612148
Status : Answered
Chosen Option : 1




Q.21 Given below are four jumbled sentences. Select the option that gives their correct order.

Some returned in the 80’s but they were not allowed to reclaim or buy land.

In the 70’s many Vietnamese living in Cambodia faced deportation after a change ingovernment.
Their only solution was to live in wooden homes floating on the lake.

Even today they can be found living on the lake surviving on fishing and tourism.

Ans , 1. BACD

2.CBDA

cowp

3. ABDC

X X X

4. DACB

Question ID : 8161612142
Status : Answered
Chosen Option : 1

Q.22 Select the INCORRECTLY spelt word.

X

Ans 1. Dessert

2. Fattening

x
x 3. Business
v

4. Decieve
Question ID : 8161612149

Status : Answered
Chosen Option : 1

Q.23 Select the INCORRECTLY spelt word.
Ans x 1. Acceptable

2. Accomodate

v
x 3. Quizzes
x

4. Beginning
Question ID : 8161612150
Status : Answered
Chosen Option : 3

Q.24 Given below are four jumbled sentences. Select the option that gives their correct order.

For example, our project files were kept pending for a few years.

However, such hindrances did not stop us from tirelessly working towards theestablishment of 450 clinics.
We initially constructed over 150 clinics.

But very soon many roadblocks were put in our path of expansion.

oconowp

Ans x 1. ABDC

2.DCAB

x
x 3.CBDA
v

4. CDAB

Question ID : 8161612141
Status : Answered
Chosen Option : 4




Q.25 Select the most appropriate ANTONYM of the given word.

DIVERSE
Ans x 1. Parallel

x 2. Practical
x 3. Farcical
J 4. Identical

Question ID : 8161612145
Status : Answered
Chosen Option : 1

Section : General Intelligence

Al frw v FE-EAE F & HR 0T W A W, TEA-HHE H T 0T S HAhA H

956437

x.Y€évoce

X>2YgEhoGe
v:YE&hoce
X+ LEMLDCH

Ans

Question ID : 8161612180
Status : Answered
Chosen Option : 2

Y 37 R gl & TTa FY S & 7wl X & safAfka ¥
(G F Aty 7@ 8)

SN

Question ID : 8161612178
Status : Answered
Chosen Option : 2




Q.3
Ans

37 fawed &1 Tuw HY orme TEmst & fw o ey g, S ey R v gaeww & gemst & 9w
gl

(15, 556, 331)

v 1 (9, 159, 78)
X 2 (12, 228, 74)
X 3 (4, 331, 305)
X 4 (17, 495, 104)

Question ID : 8161612160

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.4
Ans

38 faweT & =9 H 5w vl & @9 @ ey g, S Fey Rw v giE F e & 99 g
X : FeemH

X 1 gHag ;"I
X2 FS  oeETS
v o gfeRrer @ 3e
X gl g&st

Question ID : 8161612171
Status : Answered

Chosen Option : 3

Q.5
Ans

v fafdad geemT #, 'SECTION' & 'PHZQLRK' T Srar ¥1 38 Fesmr & 'HOSTELS' & &=
for@m sreem?

X ERPRGIP,

v ERPQHIP,

X FSPQHIQ,

X EQPSHIP,

Question ID : 8161612165
Status : Answered
Chosen Option : 2

Q.6
Ans

afy Pt 3k TEmEt Fr "ReR SRR ¥ g5 I AT, & T a1 gEeRer @ gem?
WEIT qEA:

e + 3t -

FEae: 15 3R 5

12X 30— 15+ 5+ 4 = 37,
4 530~ 182842 = 21,
4 %30 — 15 + 54142 = 97,
4%30—5=15+14= 21,

XX QX

Question ID : 8161612158
Status : Answered
Chosen Option : 2




Q.7

as A x B @ 3 § A B #r ue B
A+ B & 3 § ‘A B ¥ Rar &
TR s g TaFs FT 3T T 'R, S & Er &2
SxUxR=+J,
JxS+RxU,
R+J+SxU,
S+UxJ=+R,

X € XX

Question ID : 8161612170
Status : Answered
Chosen Option : 3

Q8 g FEA #H TUS Y S AR S F 9o REa (?) F TU 9w 3w

Ans
88, 95, 106, 119, 136, 155, 178, ?

197,
249,
207,
217,

X € X X

Question ID : 8161612162
Status : Answered
Chosen Option : 3




Q.9

37 faspe 3l &1 Tue HY S A & 7S Apfa-gEer F wea REa (?) & TS W HwEh)

o Q) :
I {11 =
Q o

O
O

Ans

Question ID : 8161612176
Status : Answered

Chosen Option : 4

e & @ Fia a1 Reew e 70 =t F 39 @8 7 F ctar §, 5w w7 7 3 306990 e

# femrg &
1. Mankind
2. Manner
3. Manuscript
4. Management
5

Q.10 . Making

X 15 4 2
w25 4 1,
X35 1, 4
X441, 2,

Ans

-

W NN =
g oW oW W

Question ID : 8161612164
Status : Answered

Chosen Option : 2




Q.11 Four words have been given, out of which three are alike in some manner and one is different. Select the odd one. Ans
X 1. Typhoid
v Depression
X Malaria ,
/< Dengue .

Question ID : 8161612173
Status : Answered
Chosen Option : 2

Q12 ‘Human-beings’ is related to ‘Mammals’ in the same way as ‘Snake’ is related to * %,

' 1 Reptile

Ans

/< Amphibian )
A Mammals ,
X Non-chordates ,

Question ID : 8161612168
Status : Answered
Chosen Option : 1

30 Rwed #1909 H S T HER-TAE F 53U IHR TEOT § T TR T HeW-TAg Tg HER-
TAE ¥ waRd B

Q13 LZ: OA: UR:?

w X EE
X HB,
v Fl,
X GK,

Question ID : 8161612167
Status : Answered
Chosen Option : 3

504 & gAY F FAA: 7 : 8 1 9 F IS A A eafFadr A, B 3R C F &= Renfoa G s
%1 B 3R C 1 For frael ooy 9o gt

Q.14

e ¥ 3357,
X 3268,
X 419,
X 3317,

Question ID : 8161612157
Status : Answered
Chosen Option : 1




¢

gradeup

W FER-TAE & 994 Y, A eaArarad Aol F g Rea (?) F T W A T g
a.15 EQM, GRL, ISK, KTJ, ?

e X MTJ,
v MUI,
X NUS,
X MVR,

Question ID : 8161612169
Status : Answered

Chosen Option : 2

30 fRwed &1 7ua F S Sl FEw ¥ 36 R g6 ¢, 5w vR gud e 9wl gew ¥

wafod 3
Q.16 88 :308 :: 126 : ?
s 379,
v o441,
X 456,
X 450,

Question ID : 8161612159
Status :

Chosen Option : --

Not Attempted and
Marked For Review

TN FEA-FTA w aC §, o & I fRelr PR & T § 3R T 3T €1 W IR BEA-geH
Q.17 T =TT FY

as M 3227,
X 7:343,
X 11:1331,
v 12:1757)

Question ID : 8161612163
Status : Answered
Chosen Option : 4
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& a1E ofic F HigH TH UF FAT IA | §H THR g UF H, G&AT 5 3HFA Forh & a9l G

o P G FEar g
[ ]
(1]
4|2
5
(&
Q.18 —
Ans « 11.
N 2,
X 4,
X 6,

Question ID : 8161612175
Status : Answered
Chosen Option : 1

@ ar 39 MW FF T F1 gasss Awaor 22

Q19
K 7T, Afgare, =t

X 2 FWHR, AEAFR, FAF
v A, g, afer

X o T, 7€, v

Ans

Question ID : 8161612181
Status : Answered
Chosen Option :3




www.gradeup.co

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

1. Some computers are phones.

2. All phones are televisions.
Conclusions:

1. Some phones are computers.

II. Some televisions are computers.

Q.20 II1.No television is a computer.

« 1. Only conclusions I and II follow.

Ans

/< Only conclusions I and III follow. S

X Either conclusion II or ITI follows. 5

& Only conclusions III follows.

Question ID : 8161612174
Status : Answered
Chosen Option : 1

TR R-TAg T o §, s @ O R vor wea € 3R ue sriea #1139 e HeR-Teg
Q_z]_ma-ﬁ'l

ae & BGL,
X PUZ,
v NSW.
X AFK,

Question ID : 8161612172
Status : Answered
Chosen Option : 3

o
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& o el A e Peget ffew &7

1\

Q.22

o X 14,
X 12,
v 13,
X 11,

2l
Q.23 (15, 49, 201)

X 1 (24, 76, 307)
X 2 (17, 55, 220)
X = (18, 58, 290)
v (29, 91, 369)

Ans

Question ID : 8161612177
Status : Answered

Chosen Option : 3

30 ReeT & 907 F{ owH TEaet F @9 o vay §, S g9y R v ggeaw & veanst & 6=

Question ID : 8161612161
Status : Answered
Chosen Option : 4

Q.24 frar s
me X 45203952017558
X 65101852117516,
v  45201952117518 ,
X 45221942116518,

v faffad gesmar #, TENDER' & '185414520' foram Sar §1 5% gesmor # 'REQUESTED' & &

Question ID : 8161612166
Status : Answered
Chosen Option :3
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Q.25 37 faeheT &1 w0 F{ S Tg @A ¥, & 7 e Hr TRedf o # Riger W@ & A S, A
TE F @ &=

Ans

.

X

=]

<]

/1

Il

[

X

B

=

X 4

=

Question ID : 8161612179
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude(Basic Arithmetic Skill)

Q.1 Ry aw o o€ # & AeaF AHed P 3 Q F T A, B, C, D, E F et @ Siawd giar aw §

OPERATOR P OPERATOR Q
" A
2% 16%
s
18%
D
26%
— c
15% 23%

% TC # & T FAGHERT F IR W, I 3N P F TS f F&qm 3.6 99 ¢, A dAew
Q & gHr Fr TEAT 4.2 o §, A 9@ C A, IR & AGH H T&AT F T & GaAcHF
3T # IO F

Ans X 1. 48,000
X 2. 52,000
v 3 42,600
X 4 44,500

Question ID : 8161612204
Status : Answered
Chosen Option : 3
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Q2 2 1 1 1 1 1 Lff <1
Ans  TfE a=7 F &, [ag+2c13+3a5+2a3+1)[a§—2a3+1}—a3(03—2J F AT AT H

X1 f7

/

v 1,
X 7,
X 0

4.

Question ID : 8161612197

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.3

3
Ans J3+2SinP L[ 1+2CosP
The value of | 1-2CosP 3-2sinpP] is:
X Sin PCosP1
X2
v o0,
x 4. 2Sin PCos P
Question ID : 8161612200
Not Attempted and
Status : M‘:lrkede:z: Fe(ev:‘::w
Chosen Option : --
2,': IfE e 71w R & 2LACB + £BAC = 80°% £BDE = 35°%£BCE = 45° &, @ Rf@aa o1 LCED &7 AT
- g .
A B D
v 160°,
X 1200,
™ 1350,
X 150°,

Question ID : 8161612192
Status : Answered
Chosen Option : 1
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Q.5
Ans

2 cm =UTE ATe uTg F AerER et B Rt 6 cm e 3R 5 cm FUE ATeT T AAHR aAT
FATIT ST ¥, $Hh O ERTH el H GAGH FEAT B A0 B

X X X

135,
105,
115,
125,

Question ID : 8161612184
Status : Answered
Chosen Option : 1
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Q.6
Ans

A, B ® 20% TS TX Tk IEG 39T &, B, C ¥ 10% T W W axg 3 &7 ¥ X 3@ 31,32,000.0
I B §1 3PN C o T a8g A W TG B, A 37 B 1 oW TR F s R or 3ww 5%
FH F A W FA @il 3H TARY F A F e @t FART grar?

X 1. 325,540
X 2. 324,540
v 2 325,400
X 4. 324,450

Question ID : 8161612188
Status : Answered
Chosen Option :3

Q.7

IfE 2145 : x = 3003 : 42 &, A y T g AT FAT g7 & x : 2508 =y : 11704 @2

"X e,
X 156,
v 140,
X 212,
Question ID : 8161612189
St £ o Reviow
Chosen Option : --
e 11
(9_4\/_;)27(9+4\/§)3 T A AT B
X 286,
v 322,
X 246,
X 424,
Question ID : 8161612195
Status : Answered
Chosen Option : 2
O oo F ¥ Fe T 6§ R 12

X 1 1,00,246
v 2 3,49,722
X 3 23,408
X 4+ 43,923

Question ID : 8161612198
Status : Answered
Chosen Option : 2
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& 1§ 3mpfa H, LABC = 95° LFED = 115° (Fhel A&l AT §)1 & 0T LAPC F e e
E

Q.10

ans 8 135°
X 1550,
X 1200,
v 150°,

gradeup

Question ID :
Status :

Chosen Option :

8161612191

Not Attempted and
Marked For Review

212,000 Fr TR FIRTT 4=, W FH T X W 3UR o 75| I] FAQET & a1, FFH 36,000

3 F3 T AR T HEuaE W S F W F Ao T F JFEES aPEr G T 6 F dd

&, st & §T & 32,800 F SFIA AT 1T, IR FH TS TE ;S & H AU FL?

Q.11

Ans x 16% 1.

X 12%,
X 14%,
v 10%,

Question ID :
Status :

Chosen Option :

8161612190

Not Attempted and
Marked For Review

feataf@a 7% 6 Tl S1, S2, S3, S4, S5, S6 W 39wy FN & # U F 3euEs AT §

(819%er dorgr gFeIR F AR 3c9eT g9IR & H ?)I

1200

1000

8883

8
il

* M

w

= Area ® Production

o
o
o

729

& T I F HUR W, IeE HIS (3eNeA AR SH F 3egre) FA: STaaH AR FeAaw

Q.12 Frae-feae &2
v 82,
X 2 85,
X3 82,
X+ S3,

Ans

S4
S3

S1
S6

Question ID :
Status :
Chosen Option :

8161612206
Answered
1
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g o TR & @ # gl 1176 km B1 50 gl T 9F WA H U T T H IR A F
AFES 5 U FH I ¢, T TR ¢ 1 HIHd T wEEHd &F F gee # 70 km/h FH §1 36
3 T T FE H AR I @R T S A wHy B o H

Chosen Option :

Q.1
N .
s 17 ®©E
X223 ue
vi12ue
X418 ue
Question ID : 8161612183
Status : Answered
Chosen Option : 3
FAETT 35 Wipfas TEAHT F AT N ¥ 3°R 9ger 10 FEamsi a1 Feer faar sme sk amr & 10
Femst Fr oA e R e, o ma M@ Sar &, I mi-~N?=600 ¥ A 3M 3R SV E
Q.14 ¥ET ____ gmm
ans ¢ 100,
X 120,
X 90,
v 115,
Question ID : 8161612185
Status - Not Attempted and

Marked For Review

Expenditure (in BnRs)
1000
900 820

AT IT% 9RT WFR @RT e & &5 | a9 2014-15 F 2019-20 T T 7IC =77 Fr
800

Zafar #1
930
84s
720

700
600
500 a15
00—
300
200
100

o

2014-15  2015-16  2016-17 2017-18  2018-19  2019-20

I FFR 2016-17, 2017-18, 2018-19 F gv 3itwa =aw & 30% #Hr IfF e F A Farch & a

Q15 202021 F T H S AT FFAAT TR (R THA A) el
. X 1%1,162.6

v 2. 31,033.5

X 3 31,1295

X 4+ %1,087.3

Question ID : 8161612203
Status : Answered
Chosen Option : 2
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Qg TR 25772 = 88775y, 5ay-67 = g5¥+z; 343z _gx+z F oY 2v+3y+51 H AT T
ans 32,
v 44 5
X 28,
X 56,

Question ID : 8161612196

Status : Not Attempted and

Marked For Review
Chosen Option : --

Q.17

e 8 388 TW

UF fFd A 312 O F TH FR @I AR TR 80% TG F AT FERT| IHS FR F 15% Fr
gfr 3o 3 Rar afthe 35% Y goeaT @ S % HRUT 9F TR B FR FG & AT gHe &
FROT, FR 1 TG AT g3 AR S Fd F HAT AR F 90% F oA I ;T g At
AT F YE AR P AU F

X 392 9w,
X 3138 9@,
v 3156 @@,

Question ID : 8161612187

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Ans

Q.18 GfafEa ars oo, sifadr 3 @ fa= & 9= oEr A, B, C, D, E & Sedie @ Siaemy 3ar 8l

m Math m Physics m Chemistry

92
93
90

©
=

~ ~
~N o @
@

=
® )
o ®
=

& T FE F YR W - Tg AAS g B T FedT 9T H FoAS F TR R R F g
@ # ¥ Fi9 &1 FuaT @ 27

X L

D & T, gl vt & Ffeae & T & AT &
X 2

C & T, 7t gew e § 3k waa e geg 3w ¢

X3 E 3R A & gFEa B & faw aifta s §
v+ B 3R E % FF@Ea C & v siifadr smam §

Question ID : 8161612205
Status : Answered
Chosen Option : 4
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o fFa 210 9fa 957 & fewme & 40 Frge wlear 31 9% $EH ¥ Fo IEGU 25% F AT W AR
A T 10% FT @ T 3T IaT g1 5H FA-A H 3§ FA 4% F T v gl 30 @ gy
FETEHT A TS FEGET BT HE; AT

Q.19

- K B
v 24,
X 16,
X 18,

Question ID : 8161612186
Status : Answered

Chosen Option : 2

5 7w 3 8 Afeen? fonelr w1 1 34 e F U F FEA §, Sl 4 W AR 18 ARnadt wr e
FH F QW R A 28 R F FHT o g1 3 RO MR 5 ARemdt & 6 w1 1 9@ Fa # e
Q.20 & F AT FEEM?

ae X 64,
X 36,
v 56,
X 72,

Question ID : 8161612182
Status : Answered
Chosen Option : 3

afg A=[%Of4%+§+ﬂ]of{zsg +(3+—2ﬂ ¥ & 84 T I AT H

- 25 24|17 |16 4 3
e X321,

X 132,

v 231,

X 213,

Question ID : 8161612199
Status : Answered
Chosen Option : 3

Ty 4 =2(sin® 6+ cos® H)-3(sin f+cos’ 8) & & cosa = ﬁ A *F AT 3¢ F AF AT FL
1’ 7

Q.22

ans S 180°
X 90°,
X 450,
v 135°,

Question ID : 8161612202
Status : Answered
Chosen Option : 4
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few arw g A, IfE AC 31k DE @aAiaR § aur £CAB=38°%, & £4BC+5/CBD & #AT
grem|

Question ID : 8161612193
Status : Answered
Chosen Option : 3

few v g &, AD F0T £CAB # efdeme & 3K BD H0T LCBF T Efdeme g1 TR C W aA HoT

FT AT 34° §, A FUT 2ADB F AT gl
(2 D
E
Q.24 A 8 F
(o]
ams S 162
o]
X 320,
Qo
X 340,
(o]
v 170,
Question ID : 8161612194
Status : Answered
Chosen Option : 4
IR 117Cos” 4+129Sin° 4 =120 § 3 170Cos* B +1588in’ B =161 &, @ Cosec’4Sec’ B & AT
Q.25 AT F
Ans J 16 1.

X X X
B O o

B

Question ID : 8161612201
Status : Not Answered
Chosen Option : --

Section : General Awareness

Q.1 FIF-FTAIA (T 1) dUT & FIATE F AT GI9 I Teb TS0 I &7 31T T T F AT TIHTH
T EHTIT el &2
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ans - X 1. 5[ T ATH

«Z.ETHEFTHIDT
xs.aa’l?ﬂ-:::-‘ran‘rm

x4.aT’ar~r$rm

Question ID : 8161612218
Status : Answered
Chosen Option : 2

Q2 gy AN ITFFE CAA,AATTI AR ST AT AT AT 2
Ans xl.aﬁaT'c'(Co)-ﬁﬂs‘c'
x 2. 91T (Au) —é\:aﬁw (Calaverite)

JS.QT{T(Hg) - NARIBT

x 4. UG HFAIH (Al) - <RATATSE
Question ID : 8161612216
Status : Answered
Chosen Option : 3

Q.3 7 SaAay 2020 F 3 TEU F Flat STel A dlich a< I ‘FALUAA § FAT? ung.o'mww?\ ¥
Ans 11'35

xz.ao

x3.4o

7<4.25

Question ID : 8161612211

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q4 FYBA B ARAF FATIF ARG T \
Ans ‘ll.ﬁg%rr
X o mmm

x?:.TITrT%ITH

x4.ﬁrﬁ

Question ID : 8161612209
Status : Answered
Chosen Option : 1

gradeup




www.gradeup.co

¢

gradeup

Q.5 FH HRAT FHAT TF FIFAT 3R TS T o T Td1G F T aT AT Yl (SelfRespect Movement)
193 HTGIA (Dravidian Movement) FT A § FAT?

A
ns x 1.4 3-1'-:::-T1'(C Annadurai)

x 2. OY. YUTIRIT o (P Theagaraya Chetty)
x 3. &Y. TSINATATART (C Rajagopalachari)

J 4, WWWW (Erode Venkatappa Ramasamy)

Question ID : 8161612228

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.6 Which of the following eye disorders is known as ‘lazy eye’?

Ans .
1. Myopia

2. Presbyopia

3. Amblyopia

X € X X

4. Hypermetropia

Question ID : 8161612217
Status : Answered
Chosen Option : 2

Q7 ZHER 1929 F T OH 37 AT F 37 T AT A % Y, STHA 'YUT ST 1 A1 9T I FT 14T

Ans

X 1. T AHHTS ICoT
"z.a?ﬂgvﬂ?»rﬁg
x3.§amrz’ra’m

x 4. W3R, e/

Question ID : 8161612208
Status : Answered

Chosen Option : 2

Q.8 3TI§‘ﬁ'G$I’ (IPL) 2019 |, & 'wﬁa%wmsﬁwam (Most Valuable Player of the Series’)' k3
SIdTaIT IT4T?

Ans x 1. 395 aeR

"2.34T-::‘:-rﬁar
x3.é;.m—»r.rr$r

x 4. Q_[W (Shubman) 3Tel

Question ID : 8161612230
Status : Answered

Chosen Option : 4

Q9 3 7R TEASA & 1S W A SAleet Tl Tg U AATE @ersh Fiet 42
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Ans
v 1. AT F OTel

xz.mm
x3.ﬂ?€rﬂ§?—f

x4.{g:ﬂ?ramar

¢

gradeup

Question ID : 8161612229
Status : Answered
Chosen Option : 4

Q.10 AFET 4FR F & HHY

ans X 1. 99 31 TG

xz.av"raﬂ'\rm
xs.ssrrsx

"4.a1—sn3mr€

T YT FR (United Nations Award) STcTet aTel THHAT R HieT 82

Question ID : 8161612225

Not Attempted and
Marked For Review

Status :

Chosen Option : --

Ans x1.%i's|?~ra'c:
xz.wﬁfrﬂa
V.

x4.?ﬂaﬁi’rﬂ'cx

Q.11 F 9 A Teholel aTel) 98 Hl-H 77 &, ST 37 OTTerer 397 & 81 TR 7 AU FLa 82

Question ID : 8161612221
Status : Answered

Chosen Option : 3

x4.s"3?1?r3~r”rq7~r

Q.12 7 <N 99 2018-2019 % AT, & & =il I HRl H TGH 37 € W13 HHTA aTell PSU & T H UTeT HeT?

Ans Jl.muéﬁgwﬂvﬁv%am(aﬁmcﬁwﬂvm)

X 2. 9T 8 1T 320

X 3. UTAR WIS=TH T T2t

Question ID : 8161612215
Status : Answered
Chosen Option : 1




www.gradeup.co

¢

gradeup

Q.13 $IRd A F TGS 7% © & 3T A & oaAF" & T 7 11 o &2 A
x 1. 3720 ETS
Jz.a’f.anﬂij\H
X 3. 9T 2T RAHE O

x4. AT HETAA a7

Question ID : 8161612214
Status : Answered

Chosen Option : 4

Q.14 3137 T 2019 FI TAGR TE WG A FH Tl 7 3T TSI & T Tsige <0l (lifetime category) 7
YOI R R Sfdr?

ans X 1. Beard

x 2. gl

X 3.8l

" 4.FF <Y

Question ID : 8161612231

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.15 1929 &, WA 7% FI 1 T9IH (Public Safety Bill) & IV H 3731 He & AT H¥aA & I
TYUTAHAT H SH Hehl?

Ans xl.mm
xz.z‘rﬂ@'{m

Js.ag%ra

x4.§8mr€‘ra‘m

Question ID : 8161612224
Status : Answered
Chosen Option : 3

Q.16 R % HF T 7 IR-GrE gad Soft 9 §2
ans X 1.3 zem
‘lz.ﬁaraw

xa.mﬂm
x4.u C)

Question ID : 8161612219
Status : Answered
Chosen Option : 2
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Q.17 {1 a8 TIW 3 =T STl ITd (ST) FIA-ATE, THF 5 1€ 1,493 FE 2

Ans Jl.fawaaqm,w

X 2. SHTEAT ST U, FaATeeh
X 3. #1eT] STof 9T, & Te

x4.mﬁwa<—~rmﬁ,anﬂm§

Question ID : 8161612220
Status : Answered
Chosen Option : 1

Q.18 PROM &T 0T T a1 3?2

Ans x 1. T T ﬁg-wmﬁ (Program read-output memory)

x 2. iiﬁﬂﬁﬁg—}ﬁﬂﬁfm(mimary read-only memory)

=T TAEeT {8-371aTell HART (Programmable read-only memory)

Question ID : 8161612207
Status : Answered
Chosen Option : 2

Q.19 CBSE 3 NCERT, 71 & &Y RT 30 37  a¥ 2019 FI W A F A (3 T T :Ied) & BT FAT
THFHAFAAMIN 1 (TE BT YF TSI FH AN T FTAH ATE?

Ans x 1.1

2. 38T

X
v 3.a# T
X

4. 31T T Question ID : 8161612213

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.20 'R’ (Quichotte) ATHF 3T ATH I '2019 FHY W HR' & T AT IAT UT| $HE @/ eI HleT §2

Ans xl.a’aﬂﬁ’o*
xZ.S-TﬂH'IT:I'Eﬂ'GI'

x 3.37 0T

"4.%3

Question ID : 8161612226

Not Attempted and

Status : Marked For Review

Chosen Option : --
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Q.21 R / FIA-HT IAR T o 1T T T <YRISTE (Estuarine Crocodiles) I T F qTH

&

Ans "1.Wwamﬁammu,ﬁgw

xz.aﬁammqw
xa.wamﬂamuﬁ:w

x4.$a‘<’r¢r’nﬁamﬁas¢mu

Question ID : 8161612222

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.22 FH T A 3EHAE ATE I aTell ¥ 7T FYgRmET A ANS
x 1. RIS FT UG G
"z.m?-l‘rqi-rav‘r?-ﬁﬂvgr

x 3.9 HRY

x4.E|TF|—c|TEﬁT§

Question ID : 8161612223
Status : Answered

Chosen Option : 2

Q23T T F G FH HRAT T T F FETTTHT R 9 SeTa) 2020 HI T R T IR TT T i Weol 3
F3 (TEAHY € o YTAT) J T IT < I AN (logo) i 3rqayram arame AN PP
"z.ywaarmmm
x3.§m@‘3a'ﬂmm

x 4. S THIG TUHAHHAT

Question ID : 8161612212
Status : Answered
Chosen Option : 2

¢

gradeup
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Q2% gt s w qum Haa (5 O oA aRd § g = Toht aE v 9 A grcl‘cfeup
T AT

o KL s st FidEaR
X 2 gore g aren
J3'$%mwmtrmﬁ
x4-a§zamam1a

Question ID : 8161612227
Status : Answered
Chosen Option : 1

Q25 UNESCO (3 33 ) oy shemwsalr ! S@® § o aXrad qa FLAT FemaT It
Ans 5 1.2014

o 2. 2016
X 3.2018
X 4.2015

Question ID : 8161612210
Status : Not Answered
Chosen Option : --




